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daga ilaglas
g (£0) Glaie¥) A S Al 2e -
Aadia (YA) glaie¥) i) S Ciladia s -
i g gl (Olaiel) du) S Cladia 230 ey Alanl) a5 e U -
(el EDE) HLaaY) e -
Aad (V) Jlaadl Ayl ds all -
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ki (B) 5 (A) ¢& el A LEAY) Allial) ALY e dlifla) xie
1 g Of e G JUEAY) Aliud ce dila) die

s IS SLAS Sl damall Ay e JIall el cld 5 yalall JUs
e (C) Aauaiall LY 1l

: Aaaal) 4aY)

®OE

Asnaa Y Gt Asgaia ) il Chall cud o (ad dla) il 13 L dlla 8-
L ) et Uad dls) Cuals adallly Cadd G ¢ dapaa s cual 13 e dlls 4 -
; ddsala
o) ey o ST e JalAEl) a5 13) (A cpe JLEAYY) Ao g gal) ALY Al B
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1- Choose the correct answer s Aovouall Al Wi s (V)

Straight wire its length 1 m carries a current 2 A, | 45as 5L 4 res (1M) a¥sb cudiue wlle
is placed normally in a uniform magnetic field, | Jlos e Lages pcngs Lawie (2A)

the wire is affected by a force 3 N so magnetic s 355 (BN) 552, il pudslice
flux density of the field is eq ual to: Lyl Jlomed! 1itgd suidoliall sl

@ 15T 15T (1)
® 25T 25T @

@ 35T 35T (O

2- Choose to answer (A) or (B) only () 91 (1) (e Al ¥ 5351 (Y)
Give reason 5 e
A) The P — N junction is used to rectify A C . 9 SIS BALAN Alogl! pasius (1)
G.QAJ:NJ'JL!;J‘

B) The conductivity of semiconductor is increased

. . . . 4_.‘_@ 3 Ld ‘ZA:‘_.‘ | W AR T H)
with increasing its temperature . : 65 g a1 55 (

Ty dx s plaiHls Al go

3- Give reason for: s Me (Y)
Laser beam is used to determine the astronomical Olaluatt (uld B 53l plad pdsiw
distance SaLSLat

2 Al c_'u"
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4- Write down the mathematical relation which
is used to calculate the energy of any level in
hydrogen atom.

Aol douoly )1 A MaY LS (€)
- 9 -l

5- Define the alternating current

1 e (0)
a3 et Ll

6- Give reason for:
The magnetic torque acting on rectangular coil
carries a current is placed in a magnetic field and
its plane parallel to field is decreased gradually
until reaches the normal position

: Me ()
Fedl pudoliaat) z193)¥ pre adlin
S DS A e Sidaius a2l Lo
W93 sLST pudoliae dad (po paoge
L3lse olsiue 4d 552 Gad) pagl (yo
863 9aall g gl im g Jlomaldf slni¥

3

A gl
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7- Choose to answer (A) or (B) only
Choose the correct answer

A) When the length of the wire is increasing to
double and its cross sectional area decreases to
its half, the resistivity of the wire becomes

@ Increases four times
@ Increases three times
@ Increases to double
@ Does not change

B) If the intensity of electric current in a
conductor is 2 A . so the quantity of electricity
(charge ) which passes through the cross
section of the conductor in one minute is :

@ 120C

4

(@) 91 (1) oo Al W1 351 (V)
s Asual | Al ¥ 4
anall Jnge Jodo dalay e (1)
Ol8 Caaill dataio dmlue yaidly
1disled die 931 daglaat!

sl angiang ()
MIEAFEVORR N @)

anall a5 @

sany (3

Dled!t a5 LAY Bua colS 13 (@)
a8 0555 (2 A) Juogalt b
s plade el AN A reSH!

:a ylade adds JM: Juo gol!

AW gl
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8- In the opposite figure, two metal rings its resistance | < i Olisane DAL I IS 4 (4)
negligable in the same plane is affected by varied | 23 =>19 S5us o8 Moga duns¥laioglae
and normal magnetic field, the ratio between e.m.f Juinas Bl o8 uigloling Jint et

. ; . O Ledlgiwe le (ga5ec ol LB elalie
generated in coil (Y) to the e m f generated in the Aol s 6531 An 131 5231 (s Al

ring (X) is equal to: axdlatt 5520 3 () Galod! d 500 giald
(X)) Abon ! o8 5T giatl Aol | 2 pST
:é‘jhﬁ
@ 4 4 @©
® 2 2 @
© 05 05 @
@ 025 y 025 (3
X
9- Photon with wavelength 4 x 107 m falls on a e (4 X 107 M) o2 sad1at s 1538 020 (4)

surface of metal with work function 2.3 X 105 | .(2.3 x 10719 ]) 4t aatiasns pase sl

find the kinetic energy of emitted electron from a | giaia ;g ,isI¥1 48 oo Al Cous!

surface of the metal, given that speed of light in | i e s s ke (! et (s
. — 8 b .

air = 3 x 10®* m/s and Planck’s constant 3 x 108 IS ) 521 5 5151 o3

34
6.625 x 10 J.s. (6625 « 10-34 Js)éﬂw&el—"ﬁj

5 A gl
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10- Choose to answer (A) or (B) only: 1(2) 91 (1) e Aala ¥ 3251 (V0)
A) Mention the effect of high direct potential on | _sian jeiatt agandt @ys sl 531 ()
the electrons which emitted from the filament | atzatt ;e 5 slalt OligHI¥ e

in Coolidge tube. ZloS dgnl La
B) Choose the correct answer: il Al W1 55 ()
X - ray spectrum which generated when agd (pe ol Aiiad! das¥l s

emitted electrons from the filament loses its | asdlar alaall e Glaiall Oy 3TN
energy gradually when passes near the target | ool g a8 o) e g uills

atoms represents: Sy Bugliale
@ Absorption line spectrum ‘ad polaiel il @
@ Absorption continuous spectrum s olaie) ado @
@ Emission line spectrum lad Glaol s @
@ Emission continuous spectrum s Slao) o @

6 Al b
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11- Choose to answer (A) or (B) only:

2 () 91 (1) (o Al ¥ 5350 -1

Compare between: o ould
A) Q)
Point of comparison Step — up transformer Step — down transformer

Zﬂjm‘s\?j

RVPNTPET PSR PRy

Al (RN (o pgST J gl

Electric current
intensity in the
secondary coil with
regard to current
intensity in the primary
coil
Caledl B il HLad s
LA Budd 2wty (g 9oLt
NNy (PS-TDU{ g SN {

B) (&)
Point of Phenomenon of Phenomenon of mutual
comparison self-induction induction
LAl ds g ST Gt 13 palts Il Gt (3 palts
Physical concept
ALl aggall | |

7

A gl
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12- Choose to answer (A) or (B) only: (@) 91 (1) e Aol 351 (VY)
A) Choose the correct answer: s Asouall Aala 1 i (1)
Ratio between total impedance and the
Ohmic resistance in the oscillating circuit at
resonance 1s:

a—‘jw‘j w' ﬂjh—a—"‘}.‘_‘l 2.‘““.‘».3!
SO0 A (B B 3ige 8,505 (B hpe g

@ More than one sl (ya ST @
@ Equal to one A1 g glus @
@ Less than one 1581 (o BT @
@ Equal to zero Nydio (5 9kus @
B) Give Reason for: e (o)

The platinum — iridium wire in hot wire
Ammeter is mounting on a plat made of a metal
having the same expansivity as that of the hot | Jelae (i Let B3k (o 2 5 e (g5t

BTV (I QUL [P PPRERYS (ETPA.

wire itself and both are isolated from each other. Slgie 4lje g Lt f Baled sl

13- Choose the correct answer: s Ascsuall Aala N1 350 (VYY)
The associated wavelength (A ) for a moving PURRIURRIINTY WIS JORTIIN tos
particle has a mass (m) and velocity (v) is V e puy 1] 458 & o sole

proportional with

@ Directly with mass m and velocity v V91 (e US pa Lyl @
@ Directly with mass m and inversely with V oo Lo s T oo s o @
velocity v
@ Inversely with mass m and directly with Ve sk 5 M o Lusie @
velocity v
@ Inversely with mass m and velocity v Vg1 (e JS ps Leuse @
8 Al b
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14- Choose the correct answer: : Asuoual) Wl 25 (VE)
Coherent photons in the optical rays means: L@l ay A gual | Aaa ¥ 15 93 9 ! 3
@ Emitted by variable phase difference in sl B pis BUals

@ Moving in parallel beams )l gie Lgiad] dej B U ol

@ Emitted by constant phase difference olh s B s B

O®OO

@ Does not obey inverse square law raSal| g 30 () g3LEY puaind

15- Choose the correct answer: 1 Aovoual| Wl W1 Sl (V0)
The potential difference between two points | i, aju lewie (uadais oo wgad! 3,2
when a work of 30 Joules needed to transfer
10 Coulombs between the two points is equal to:

@ 03V 03V (D
® 3V 3V Q
© 30V 30V &
@ 300V 300V

(10 C) ap s anes g2 (30 J) yaa

9 AN s
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16- Compare between:

x[}\*..ta)@ (\1)

Point of comparison
aylat)any

Ohmmeter

Hot wire ammeter
Gl a1

Reason of not
equal division scale

$obud pue o
zo it pludi

17- Transistor has B3, = 50, find a., then calculate the
collector current if the base current=5x 10 ° A

(Be = 50) & y5ia331,5 (\V)

el HLS cows ) @3 (Ol ) s |

(5x107A) et HLd oS 13y

10
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18- What is meant by? + —3 dguadall Le (VA)

The effective value of AC =2 A $2 A g5l 33 o oLl AlLal| desal!

11 A gl
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(@) 91 (1) e Al ¥ )35 (19)
1 dovouall Al N s

19- Choose to answer (A) or (B) only
Choose the correct answer

A) In the circuit shown in the figure three
lamps with different resistance each lamp
is working on 6 volt , so the e m (V) of
the battery needed to operate these lamps is

equal to

B) In the opposite circuit when the switch K
is closed, which of the following choices
represent the change in the reading of the

A

Ammeter and the Voltmeter?

A58 SISl Aoa 3 50t 8 (1)
watise (C. B (A) polias
G2 e rluas US Joay daglaet)
axdlat 55211 (OV ) yeS uga
w31 (V) bt iy eI
1S obun La)lude olastlona 3s Loy

Glé wie STl Aell 350401 LB ()
Jies 25¥1 Ol @1 K pliaats
Seait 9ol Be1y8 B coslomll st

Sy ey

Choice | Reading of voltmeter | Reading of Ammeter
Vs :|7V slasy et galtl 3el 48 a3l ,8
[ @ Increases Increases
7\ alays alays
30 @ Increases Decreases
« Lo = =
K
@ decreases Increases
AN Ja 2153
3Q @ No change Increases
Put vl aajd
12 Al s
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20- Ammeter reads up to I, and has a resistance e Tpa (0.1 Q) azaglas jaei (¥0)
of 0.1 Q. What is the value of required shunt (I8) sl am wsile
resistor to increase its reading 10 times original? | 3alLyj¥ a3 LA (5 joue de glie caws !

(I +) 5l ey duan@y )L (iaB

21- Choose to answer (A) or (B) only (@) 91 (1) He Al 331 (YY)
Give reason for: 1 Me
A) Step — up transformers are used at generating | 201 eI S¥soad! pusius (1)
power station to transfer electrical energy to | o eIt a8latiJaid ieanld

zones of distribution. Slga sl (ySLel I Lo 53 Sllase
B) The standard resistors are made of double Il (o Al Sla glied! sl ()
wounded coils. §l> 93j Lot a8 5510

22- In the opposite figure the coil with iron core able | (e w8 4l i cale ilaod) gsatt 2 (YY)
to move, and the coil is connected with Ohmic diagl daglio ps Juale alelly dusmt!
resistance, Ammeter and battery in series, what | i ,e85,50 2 315301 le 2 slkasy Sicels
happen to the reading of Ammeter if the iron

oo e oW 13e 1,38 Giioms I3Le .2 lae
core is withdrawn from the coil rapidly?

Skﬂu&l@!!&ng%.\a}iﬁ|

n Iron Core
Pull ’ VT
w
R | Ammeter
< l A
> &)
sl
Al a3
&
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23- Choose to answer (A) or (B) only (@) 91 (1) (e Agla ¥ 5351 (YY)
Give reason for: 7S
A) The Line spectrum of X ray may be not Wil b jreall cadall sgtay ¥ u (1)
appecars. Siccd |
B) The wavelength in Leyman’s series has the | J8iobes degonscade o8 o gal 'Jskt! (=)
shortest wavelength in hydrogen spectrum . §002 )l 1353 il B gl J 15l Y

24- In the logic circuit as shown which one choice ‘ oo @ USAIL Tocad | dilaiad | 3,50401 3 (Y8)

in the truth table makes the output D =1 D=1 ¢ 51 oy 3o 2l s N

ngi:f A B C
0 0 1
A AND @
B——— » D[ ® 1 0 1
C @ | 0 0
@ 0 1

25- Write the relation of Ampere’s circuital law. | o< 3 -ael! dusby 31 A83all clS1(Y0)
RN el 5318

26- What is the function of the magnetic field of | Jlaxe!! 4 psdy I Houd) La (Y7)
the permanent magnet in the electric motor? | s e udoliGelt muidolize!!

S e ol
14 AW s
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27- Inductive coil with Ohmic resistance 10 Q is yiuaes uog (10 Q) s g¥1 dcia gl oo cate (YY)
connecting with A C source of em f=10V (10 V) i g8 ad 101 4548 33 0 s

calculate its inductive reactance when the intensity | Losic catelt ddiomtt dtelael) coaws
of the electric current in the circuit = 0.8 Ampere. | .(0.8 A)dad 5;Ledt HL 34d (955

28- Choose to answer (A) or (B) only: (@) 51 (1) oo Al W1 5351 (YA)
A) Mention one example for electronic specialize| dailodia >yl iy ¥li s , <30(1)
devices. e

i35 o puiasalt Jlgand! sl 5531 (49)

B) Mention the name of device which convert :
Ghldl ] alaiadl dopgSH OHLlay

continuous signals to digital signals.

Aked)
29- Choose to answer (A) or (B) only: (@) 91 (1) e Aol W 2251 (Y4)
A) What is meant by optical pumping? § 5 9l el ey gl La (1)
B) What is meant by the laser beam does not ass ¥ 3l dasl of Wy e e (o)
obey invers square law? $ aaall o 301 Oy it
15 AN s
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30- Choose to answer (A) or (B) only 1(2) 9l (1) e ol 351 (Y1)
Choose the correct answer s Asvouall Al ¥
A) The equivalent resistance of three identical Alilaie le glie DU RIS da glaat | (1)
resistors is connected in parallel = 2Q, s0 its | 0555 (2 Q)gglud @)1 le At
equivalent resistance in series is equal to: e Juogill wie gl BIS daglael]
2 ylude ‘:,3|3ﬂ|

B) In the circuit as shown in the figure, if the 3] JSadly Acred ! A pgSIH 350401 B (0)
reading of Ammeter 1 A the reading of seiyd 0383 LA ¥ ae1,8 ol
voltmeter is: : i gal

3V [ Ya=10v -
@ | r=1Q @

b 6V 6V ©
7V &

R
A
@ ov & oy &
31- In the circuit shown in the figure, it’s a circuit (O Al (B JSATLs Aeecal 1350001 (¥Y)
in resonance, what happen to the reading of e el gt Bel Bt Eikos 1310
voltmeter when the switch K is closed? 5K pliae ge
C
L /K
R C
O—0
16 AW s
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32- In the circuit shown in figure the phase angle | JS—aIb aced! do ,gS313 5101 -8 (¥Y)

between total voltage (V) and current (I) (V) ASI agand 1 358 (s yakalt gl
passing through the circuit is : s 9ku 3,500 HLett (1) ey
@) +90° +90° (D

@ +45° X—=80Q X =60Q R=20Q +45 @

450 o -45"

-90° -90° (®

33- Give reason for: + Je (YY)
The resolving power of electron microscope is 9 PSIY 0gS g ySealt Al B Gt
very high . ARV SO
17 AN
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34- In the circuit shown in the figure, calculate: s | JSATLY Aierral! 5000 B (V)
(1) Current intensity passing through the Roaaglaets oo slet jlarisaa (1)
resistance R Roaeglza yaza (1)

(2) The value of the resistance R .
[=02A 6Q

I=0.6A R

AYAVAVAYAYAYA
120
L=01A
| |VB
| r=0
35- A number of multipliers is used to convert 9 Balide uga Slaclias cususiul (Y0)
galvanometer reads up to I to Voltmeter used (Ig) dale dlesiy HLi uadl y e gilals

to measure potential difference (V) , the given Al dga B9 B ks yocaid 3 o3|
table represents the relation between maximum | ;o a8t 1 Jouatt i (V)

measured voltage and the magnitude of the et Al duais 31 (3Sa g (3B (B
multipliers Ry st Julaad) (Rppy) gt cacline yluziay
V (volt) 7 9 11 13 15
R _(Q) 300 400 500 600 700

Plot a graph between (V) on the vertical axis and | jte (V) g 20008t 28att @)yl
Ry, on horizontal axis, from the graph find the | 5 st 1o (Ry))) 9 sl 1 y3-5nalt
current of galvanometer Ig. '(Ig) o o a1 (yag oY

18 Al 1]
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36- Choose the correct answer

The value of instantaneous induced e.m.f in the
coil of dynamo when the magnetic flux passing
through the coil is maximum, is equal to

@ The maximum value
@ The effective value
@ The average value

@ Zero

37- Choose to answer (A) or (B) only

A) What is meant by the following statement?
The method of connection of group of
electrical resistors with different values to
form equivalent resistance its value less than
the smallest one .

B) What is meant by?
The total work done to transfer one Coulomb
inside and outside the battery in the closed
circuit = 15 Joules

s Asveouall Al W1 31 (Y1)
Himwal| G St Aadlad| 593l luzae
0% Ledie gelionll ale B ddasilf
Lo A Ll unboliaadl (aall
1§ gl rolae

Wis O
@
®

.‘;&.‘a

() 91 (1) e Al ¥ )35 (YY)
P AL 3 ylaat dde JuS Le st (1)
Gleglaat! (po 4c goms S gi dduybo
41310 o glie ol Aalisnel| A pgSI!
40 garmall 8 Baglio yiwol (ro JBI

3. 0l i Lo (@)
S s 51 Jpinral GISH1 St
PP ERINUSYWING I 6))
(15 J) g gl matie d 68 3 505

20
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38- Choose to answer (A) or (B) only 1(2) 9l (1) e Al S50 (YA)
Choose the correct answer s Aol | Asl W1 i3
A) Straight wire with length 2 meter is moving | s (2 TN ) gl i b (1)
with a velocity 10 m/s perpendicular to e gasae (10 M/ S) i puuy
uniform magnetic field with magnetic flux B @aTie o uloline Jloe oy las
density 0.1T, the induced electro-motive aaaitia9at 053 (0.1 T) nid
force generated is equal to (6 9l dd BT gal) Kol B 1S3

@) 2v 2v (D
® 15V 15V @
© 1V v ®
@ 05V 05V (3

B) Inductive coil with self- induction coefficient | abe 2 sLedt o oS3 LA 565 Jutas ()
0.25 H is needed to generate an induced ats azsun 0.25 H oo as
electro-motive force = 10 volt , the rate of 10V tiovie au,es andis 358
change of electric current passing through s $ gl 0)lada
the coil is equal to

@) 0.025 A/s 0.025A/s (i)
) 2.5A7s 25A ©
(© 1025A/s 10.25 A/s

@ 40A/s 40A/s (3)

21 A gl
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39- Choose to answer (A) or (B) only
Mention:
A) Wien’s law
B) One application for a thermal imaging in the
medicine.

() 91 (1) pe Al ¥ 551 (Y9)
Y
2 0l (i (1)
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40- The figure represents one of electron transitions
in hydrogen atom. Calculate the wavelength of
the emitted photon
(Knowing: h = 6.625x103* J.s , ¢ = 3x10® m/s
and e =1.6x10"°C)
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¢ h=6.625x104Js)
«c=3X% 108 m/s
(e=16x10"C

n= Q -1.51 ev
n=2 -34ev
n=1 -13.6ev
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41- In helium neon LASER compare between:
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42- What is meant by?

Drift current in the P — N junction
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43- What is the relation between type of force
between two wires passing through each of them
electric current and the direction of current in
the two wires?
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44- Two adjacent coils with mutual induction 0.2 H
between them, the current is changed in the primary
coil from 5 Ato3 Ain 0.01 sec,
calculate induced electro-motive force generated in
the secondary coil.
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45- Give reason: s e (£0)
The electric current does not flow in the circuit | L 2atie 3,505 B 2,48 HLS o ¥
contains capacitor and direct current source IS suiae pe G e Juaie caiSe

connected in series. § palcscd (3 2GS
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